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SAMPLE ASSESSMENT SCHEDULE 
Mathematics and Statistics 91261 (2.6):  Apply algebraic methods in solving problems
	Achievement
	Achievement with Merit
	Achievement with Excellence

	Apply algebraic methods in solving problems involves:

· selecting and using methods 

· demonstrating knowledge of algebraic concepts and terms

· communicating using appropriate representations.

	Apply algebraic methods using relational thinking, in solving problems will involve ONE or more of:

· selecting and carrying out a logical sequence of steps

· connecting different concepts or representations 

· demonstrating understanding of concepts

· forming and using a model 
· relating findings to a context, or communicating thinking using appropriate mathematical statements.
	Apply algebraic methods using extended abstract thinking, in solving problems will involve ONE or more of:

· devising a strategy to investigate or solve a problem

· identifying relevant concepts in context 
· developing a chain of logical reasoning, or proof

· forming a generalisation 
·  using correct mathematical statements, or communicating mathematical insight.


Evidence Statement
	One 
	Expected Coverage
	Achievement
	Merit
	Excellence

	NØ = No answer; no relevant evidence.

N1 = Attempt at ONE question.
N2 = ONE of a OR partial solution in TWO questions.
A3 = TWO of Achievement.

A4 = THREE of Acheivement.

M5 = ONE of Merit.

M6 = TWO of Merit.

E7 = ONE of Excellence.

E8 = Only minor error in ONE of the Excellence questions.

	(a) (i)
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	Equation solved.
	
	

	(a) (ii)
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	Equation solved.
	
	

	(b) (i)
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A = 1.2 m2
	Equation solved. Units not required.
	
	

	(b) (ii)
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A = 1.2737

Increase = 1.2737 – 1.2

=0.0737 m2
	Area found. Units not required.
	Problem solved.
	

	(b) (iii)
	1.2 (1.012)n
3 = (1.012)n
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= 92.1 days
	Log equation established. Units not required.
	Partially solved the problem.
	Problem solved.

	(c) (i)
	
[image: image6.wmf]n
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9.77 cm2 or 0.000977 m2
	Equation established.
	Problem solved.  Units required.
	

	(c) (ii)
	Ratio width to length = 84.1:119
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 0.77
= 7 cm
	Equation solved. Units not required.
	Problem partially solved 
	Problem resolved. Units required.


	Two 
	Expected Coverage
	Achievement
	Merit
	Excellence

	NØ = No answer; no relevant evidence.

N1 = Attempt at ONE question.
N2 = ONE of a OR partial solution in TWO questions.

A3 = TWO of Achievement.

A4 = THREE of Achievement.

M5 = ONE of Merit.

M6 = TWO of Merit.

E7 = ONE of Excellence.

E8 = TWO of Excellence.

	(a)
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	Algebraic expression simplified.
	
	

	(b)
	7 log 2
	Algebraic expression simplified.
	
	

	(c)
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	Problem solved.
	
	

	(d)
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	Incomplete solution provided.
	Problem solved.
	

	(e) (i)
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	Equation established.
	
	

	(e) (ii)
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Distance = 2.6 m
Units not required.
	
	Problem partially solved.
	Problem solved.

	(f)
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As one side is 8 less then x must be > 2

Hence 8 < x < 10
	Substituting and simplifying evident.
	Selected and carried out a logical sequence of steps to solve the problem.

	Devised a strategy and developed a chain of logical reasoning in solving the problem.

	Three
	Expected Coverage
	Achievement
	Merit
	Excellence

	NØ = No answer; no relevant evidence.

N1 = Attempt at ONE question.
N2 = ONE of a OR partial solution in TWO questions.
A3 = TWO of Acheivement.

A4 = THREE of Achievement.

M5 = ONE of Merit.

M6 = TWO of Merit.
E7 = ONE of Excellence.

E8 = TWO of Excellence.

	(a) (i)
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	Expression factorised
	
	

	(a) (ii)
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[image: image18.wmf]
	Equation solved.
	
	

	(a) (iii)
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	Partial manipulation of expression.
	Problem solved.
	

	(a) (iv)
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 EMBED Equation.3  [image: image22.wmf]k
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	Relationship established.
	Partially solved the problem.

	Devised a strategy and developed a chain of logical reasoning in solving the problem.

	(b) (i)
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	Correct expression.
	
	

	(b) (ii)
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only 3.7 is a valid answer as –7.7 and 0 give negative values for r. 
H = 11.7 Units not required.
	Equation solved.
	Value of H evaluated.
	

	(b) (iii)
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	Relationship established.
	Problem is partially solved.
	Devised a strategy and developed a chain of logical reasoning in solving the problem.
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